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STOP!
READ CAREFULLY BEFORE INSTALLING CLUTCH

This clutch must be installed by a qualified installer. Improper installation or failure to replace or
resurface the flywheel, or to replace the pilot bearing, clutch brake or other worn drive train
components may cause poor clutch release or early failure and void the manufacturer’s warranty.

Verify Correct Flywheel Dimensions
Flywheel bore (DIM A) must be a minimum of 10”. (See Fig. 1)

10”

Db, A

SECTION A-A

You must have a minimum of 5/16” distance from the friction surface (face) of your flywheel to the top of the bolt
head that holds the flywheel to the crankshaft. If it is less than 5/16”, you need a NEW flywheel! (See Fig. 3)

Flywheel clutch pilot cannot be greater than 3/16” deep. If it is greater than 3/16” the clutch will not bolt tight to
flywheel. (See Fig. 2)



INSTALLATION

1. Resurface or replace flywheel. Surface must be smooth or premature clutch failure can occur.
REMEMBER: Machining the flywheel past the recommended .060” moves the pressure plate away
from the transmission. In this event, install a fiber spacer (provided) on the input shaft between
the clutch brake and the transmission. The release yoke in the bell housing may not align properly
with the pressure plate release bearing housing. Linkage adjustment may be required during
clutch setup. If resurfacing is required, while the flywheel is mounted to the crank shaft, verify
correct flywheel dimensions as seen in Fig. 2 and Fig. 3.

2. Inspect and dial-indicate the mating surface of engine flywheel housing and clutch bell housing for
alignment. Check flywheel run out. CAUTION: If misalignment is greater than the recommended
limits, this will cause poor clutch release, rapid wear on transmission input shaft and destruction of
the clutch disc. Excessive flywheel run out may cause severe vibration in vehicle drive line. (See
Fig. 5)

3. Anew pilot bearing with a VITON® seal must be used. Before installing pilot bearing into flywheel,
check freedom of movement on transmission input shaft.

4. Verify disc fits in flywheel bore (Fig. 1). Slide disc the length of the input shaft checking for twist
and wear. Insert alignment shaft through bearing housing. Install rear disc (oriented correctly),
center plate, and front disc (oriented correctly) on alignment shaft. Move clutch housing towards
flywheel making sure cover fits into flywheel pilot.

5. Install the bolts (7/16 x 14unc x 2-1/4) that fasten the clutch housing on the flywheel. Tighten the
bolts to the specified torque and the sequence specified by the manufacturer of the vehicle or
transmission (Recommended 40-50 ft*Ibs). Bolts should be Grade 5 or greater.

6. Remove caging fork from under the release bearing. Remove alignment shaft. Verify bearing
distance from cover is 1/2” - 5/8” (See Fig. 4). NOTE: Any time the clutch is removed from the
flywheel, the caging fork needs to be reinstalled. Failure to do so will cause adjusting arm to fall
out of retainer stud. See Fig. 9 in Reset Procedure.

Fig. 4

<+ DIM B
1/2” _ 5/8”



MEASURING ENGINE FLYWHEEL HOUSING AND FLYWHEEL

NOTE: Pilot Bearing must be replaced. Make sure all gauge contact surfaces are clean and dry.

CHECK THE FOLLOWING USING A DIAL INDICATOR:

Flywheel Face Runout

Secure dial indicator base to flywheel
housing face. Put gauge finger in
contact with flywheel face near the
outer edge. Rotate flywheel one
revolution. Maximum runout is
.008” (.20 mm).

Flywheel Housing I.D. Runout

Secure dial indicator base to
crankshaft. Put gauge finger against
flywheel housing pilot I.D.

Rotate flywheel one revolution.
Maximum runout is .008 (.20 mm).

Pilot Bearing Bore Runout
Secure dial indicator base to flywheel
housing face. Position gauge finger
so that it contacts pilot bearing bore.
Rotate flywheel one revolution.
Maximum runout is .005" (.13 mm).

Flywheel Housing Face Runout
Secure dial indicator base to flywheel
near the outer edge. Put gauge finger
in contact with face of flywheel housing.
Rotate flywheel one revolution.
Maximum runout is .008" (.20 mm).




7. Reconnect lube hose attachment (For Hydraulic Linkage Systems).

8. Examine transmission input shaft and clutch release system components for wear and replace if necessary.
(See Fig. 6)

9. Install fiber spacer and replace clutch brake (fiber spacer not needed if over-sized clutch brake is used).

10. Be sure to properly lube the following components with NLGI grade 2 or 3 Lithium complex grease: Release
Bearing, Yoke Fingers, Cross Shaft Bushings, and Linkage Pivot Points. Note: Applying enough grease to
the release bearing until visible will extend the life of sleeve bushings and input shaft.

Transmission Bearing Retainer
Measured input shaft length should be

F|g, 6 8.657”. If longer than 8.71” transmission
bearing retainer cap needs to be
replaced.
Worn or rough surface will lead to Transmission Bearin
Iransmission Bearing
Release Yoke premature clutch brake wear and - ! .' !
e . Wear will allow input shaft wobble
Worn fingers will cause sleeve bushing adjustment problems

creating vibration which leads to

wear and adjustment problems premature failure

Cross Shaft Bushing
Worn cross shaft bushings allows
sideways thrust on release bearing
causing wear on sleeve bushing and
premature wear on release bearing

Cross Shafts and Linkage
Worn cross shafts and linkage system can
lead to adjustment problems, as well as,
hard pedal and premature sleeve bushing
wear

Clutch Brake
A clutch brake is used on non-synchronized
transmissions to slow or stop the input shaft when
the clutch pedal is depressed. A clutch brake is

designed to work at engine idle with the truck 8.657”
stopped. Needs to be replaced at every clutch
installation

Input Shaft Splines
Worn splines on input shaft will cause
clutch to release improperly and may cause
splined hubs in clutch disc to break out.

Input Shaft Pilot
Any wear in area will allow input shaft

to wobble creating vibration which
leads to premature failure

Input Shaft
Roughness in bushing area will lead to sleeve

bushing failure and can cause bushing to pull out of
sleeve

11. Using extreme caution, guide transmission through clutch cover, disc assemblies, and into pilot bearing
rotating bell housing shaft so that release yoke fingers are clear of the pads on the release bearing
assembly. (Warning: Transmission must not hang or be forced into the clutch. This can warp the
clutch disc and prevent the clutch from releasing.) NOTE: Do not add lube to input shaft splines!

12. Start bell housing bolts and tighten progressively to the torque recommended by the vehicle
manufacturer.

13. |Install clutch linkage. See “Clutch Set Up Procedure”.



CLUTCH SET UP PROCEDURE

NOTE: Clutches are adjusted at the factory to original equipment specifications and should require very little internal
adjustment to achieve proper release and engagement. The clutch must not be adjusted to accommodate thin or worn
flywheels, or worn linkage, yoke and/or cross shaft bushings, or to accommodate other drive train deficiencies. Adjustment for
such purposes will either cause the clutch to not function properly or will cause early clutch failure and will be apparent on
factory inspection of warranty claims, thereby voiding the manufacturer warranty.

STEP #1

After transmission installation, check the clearance between the yoke tips and wear pads on bearing housing for 1/8”
clearance. This determines pedal free play (Mechanical Linkage Only). (See Fig. 7)

Adjust the clutch linkage to increase or decrease the yoke-to-bearing clearance. NEVER USE THE INTERNAL CLUTCH
ADJUSTMENT FOR THIS PURPOSE.

STEP #2

Check for proper clutch brake and bearing gap of 1/2” to 9/16”. If the gap is too small verify DIM B (Fig. 4 or Fig. 7). If DIM B
is correct and a fiber spacer or oversized clutch brake was installed, remove the fiber spacer and/or replace over-sized clutch
brake with standard thickness clutch brake. NOTE: If the gap is larger than 9/16” and DIM B is correct then one of the
following conditions exists. Fiber spacer/over-sized clutch brake was not installed or you need to re-measure input shaft
length as seen in Fig. 6. DO NOT ADJUST THE CLUTCH!

THIS DIMENSION IS CRITICAL. DO NOT VARY—EITHER OVER OR UNDER THESE DIMENSIONS—UNDER ANY
CIRCUMSTANCES.

REMINDER: The bearing must move a minimum of 1/2” or clutch will not release. Eliminate lost motion before checking for
1/2” movement. Lost motion is generally caused by loose or worn linkage, or worn yoke or cross shaft bushings.

STEP #3

Verify the clutch brake squeeze by inserting .010 feeler gauge between bearing and clutch brake, then depressing the pedal to
end of stroke. The feeler gauge must be tightly clamped between the bearing and the clutch brake. This verifies the contact
of the bearing to the clutch brake.

The clutch brake will be squeezed if the total pedal stroke slightly exceeds the movement required to move the yoke/fork
5/8” to 11/16” (the combined total of the 1/8” clearance between yoke tips and wear pads and the 1/2” - 9/16” brake
squeeze gap). To optimize brake squeeze slowly let up on the pedal and check the pedal position at the moment the .010”
feeler gauge can be removed. If the pedal is less than %” or more than 1” from the floor when gauge can be removed, re-
adjust the linkage.

IN THE EVENT THE BRAKE IS NOT BEING SQUEEZED, DO NOT CHANGE THE 1/2” - 9/16” GAP FOR THE CLUTCH BRAKE, OR
THE 1/8” CLEARANCE FOR THE BEARING HOUSING—CONSULT THE VEHICLE MANUFACTURER SERVICE MANUAL.

In analyzing the reasons for the brake not being squeezed, other things to check for are:

Worn linkage components or yoke and cross shaft bushings. If necessary, replace those components.
Improper linkage assembly. Verify that linkage is assembled in the correct hole locations.

Pedal stroke. To adjust, raise the upper and/or lower the lower pedal stops.

If the clutch is hydraulically assisted, make sure the slave and master cylinders are functioning
properly.

onw>®

NOTE: MAXIMUM BRAKE SQUEEZE (IN CAB OF TRUCK) SHOULD NOT EXCEED 1” FROM THE END OF PEDAL STROKE. IF IT
DOES, IT CAN BE ADJUSTED BY:

A. Changing pedal stops in cab to reduce total pedal stroke.
B. Increasing 1/8” yoke-to-bearing setting to lower squeeze. (This will increase free-pedal travel.)



STEP #4
Installer should carefully verify that there is 1/2” - 5/8” gap between clutch cover and release bearing, 1/8” of free travel between yoke and wear
pads (mechanical linkage only), and 1/2” - 9/16” gap between release bearing and clutch brake.

Schematic 1

0.D. 2”

. If Fiber Spacer is to
Fig. 7 be installed after
transmission, notch

“V"” as shown in
Schematic 1

1/2”-9/16”

A

1/8” (Mechanical Linkage Only)

A



TROUBLESHOOTING AND DIAGNOSTICS

Bearing Position too large (Greater than 5/8”)

e Disc in Backwards
¢ 5/16" flywheel dimension is too small and disc is hitting crank bolts (See Fig. 3)
¢ Flywheel bore is smaller than 10” (See Fig. 1)

Bearing Position too small (Less than 1/2”)

¢ Flywheel not resurfaced

e Flywheel Clutch Pilot is more than 3/16” (See Fig. 2)

e Forgot to install a disc

¢ NOTE: If any of the previous situations occur, verify the adjuster arm is still inserted in stud
(see Fig. 9)

Bearing to Clutch Brake Gap is greater than 9/16”

e Verify Bearing Position is in spec between 1/2” - 5/8” (See Fig. 7)

e Input shaft measurement is too long/excessive wear on transmission input bearing retainer
(See Fig. 6)

¢ Did not use Over-Sized clutch brake or fiber spacer

¢ Self-Adjust mechanism not working—See Reset Procedure

Bearing to Clutch Brake Gap is less than 1/2”

e Verify bearing position is in spec between 1/2” - 5/8” ( See Fig. 7)
e Used over-sized clutch brake instead of standard clutch brake
¢ Have fiber spacer and don’t need it

Free Travel is out of spec (Mechanical Linkage Systems Only)

e Verify Bearing Position is in spec between 1/2” - 5/8” (See Fig. 7)
e Verify Bearing to Brake Gap is in spec between 1/2” - 9/16” (See Fig. 7)



RESET PROCEDURE

If for any reason the clutch needs to be reset or manually
adjusted, follow the instructions below.

Remove self-adjusting mechanism (Fig. 8)

Disengage clutch

Install manual adjust mechanism (Fig. 8)

Manually adjust clutch to meet specs in set up

procedure. (See Fig. 7)

5. Reinstall self-adjusting mechanism. Ensure adjusting
arm is properly seated in the retainer stud as seen in
Fig. 9.

6. When reinstalling self-adjusting mechanism it may be

necessary to manually ratchet the self-adjust

mechanism so that the worm gear is seated properly in
the adjusting ring teeth.

PwnNpE
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iALTO!
LEA ATENTAMENTE ANTES DE INSTALAR EL EMBRAGUE

Una persona calificada debe instalar este embrague. La instalacion incorrecta o la falla en reemplazar
o revestir el volante de inercia, o en reemplazar el rodamiento piloto, el pedal del embrague u otros
componentes del tren propulsor pueden causar una liberacién deficiente del embrague o un fallo
prematuro y anular la garantia del fabricante.

Verificacion de las dimensiones correctas del volante de inercia
La dimensidon del volante de inercia (DIM A) debe estar a un minimo de 10".
(Vea la Fig. 1).

10”

DIM. A

SECCION A-A

Debe tener una distancia minima de 5/16" desde la superficie de friccién (cara) del volante de inercia hacia la
parte superior de la cabeza del tornillo que sostiene el volante de inercia al cigiiefial. Si es menor que 5/16",
necesita un volante de inercia NUEVO. (Vea la Fig. 3).

El piloto del embrague del volante de inercia no puede ser mayor que 3/16" de profundidad. Si es mayor que
3/16", el embrague no se atornillara al volante de inercia. (Vea la Fig. 2).



INSTALACION

1. Revestimiento o reemplazo del volante de inercia. El revestimiento debe ser suave o puede ocurrir un fallo
prematuro del embrague. RECUERDE: La mecanizacidn del volante mas alla de las .060" recomendadas mueve la
placa de presion lejos de la transmisidn. En este caso, instale un espaciador de fibra (proporcionado) en el eje de
entrada entre el pedal del embrague y la transmision. El yugo de liberacién en la campana protectora puede que
no se nivele correctamente con la carcasa de rodamientos de desembrague de la placa de presidn. Se puede
requerir un ajuste de la conexion durante la instalacién del embrague. Si se requiere un revestimiento, mientras
el volante esta montado en el cigliefial, verifique las dimensiones correctas del volante de inercia como se ve en
las Fig. 2 y Fig. 3.

2. Inspeccione y marque-indique que las superficies de contacto de la carcasa del volante de inercia del motor y de
la campana protectora del embrague estén alineadas. Compruebe que el volante de inercia no esté descentrado.
PRECAUCION: Si la alineacién incorrecta es mayor que los limites recomendados, puede causar una liberacién
deficiente del embrague, un desgaste rapido en el eje de entrada de la transmision y la destruccion en el disco del
embrague. Un descentrado excesivo del volante de inercia puede causar una vibracién grave en la linea de traccidn
del vehiculo. (Vea la Fig. 5).

3. Sedebe utilizar un nuevo rodamiento piloto con un sello VITON®. Antes de instalar el rodamiento piloto en el
volante de inercia, compruebe la libertad de movimiento en el eje de entrada de la transmision.

4. Verifique los ajustes del disco en el diametro del volante de inercia (Fig. 1). Deslice el disco la longitud del eje
de entrada y compruebe si existe torsidn y desgaste. Inserte el eje de alineamiento a través de la carcasa de
rodamientos. Instale el disco trasero (orientado correctamente), la placa central y el disco delantero (orientado
correctamente) en el eje de alineamiento. Mueva la carcasa del embrague hacia el volante de inercia
asegurandose de que cubra los ajustes en el piloto del volante de inercia.

5. Instale los tornillos (7/16 x 14 UNC x 2-1/4) que sujetan la carcasa del embrague en el volante de inercia. Ajuste
los tornillos en el par de torsidn especificado y en la secuencia especificada por el fabricante del vehiculo o la
transmision (recomendado 40-50 ft*Ib). Los tornillos deben ser de Grado 5 o mayores.

6. Quite la horquilla de caja de abajo del cojinete de desembrague. Quite el eje de alineacion. Verifique que la
distancia del cojinete desde la cubierta sea de 1/2” a 5/8” (vea la Fig. 4). NOTA: Siempre que el embrague se salga
del volante, se tendra que reinstalar la horquilla de caja. En caso de no hacerlo, causara que brazo de ajuste se
desprenda del tapdn de retencion. Vea la Fig. 9 en Procedimiento de reajuste.

DIM B
1/2” _ 5/8”



MEDICION DE LA CARCASA DEL VOLANTE DEL MOTOR
Y EL VOLANTE DE INERCIA

NOTA: Se debe reemplazar el rodamiento piloto. Asegurese de que las superficies de contacto del calibrador estén limpias y secas.

COMPRUEBE LO SIGUIENTE UTILIZANDO UN INDICADOR DE CUADRANTE:

Descentrado de la cara del volante

de inercia |
Asegure la base del indicador del cuadrante a la
cara de la carcasa del volante de inercia. Coloque
la aguja calibradora en contacto con la cara del
volante de inercia cerca del borde externo. Rote el
volante de inercia una revolucidn. El descentrado
maximo es de .008” (.20 mm).

Diametro interno de la carcasa del

volante de inercia. Descentrado
Asegure la base del indicador del cuadrante al
cigiienal. Coloque la aguja calibradora contra el
diametro interno del piloto de la carcasa del
volante de inercia.

Rote el volante de inercia una revolucion.

El descentrado maximo es de .008" (.20 mm).

Descentrado del diametro del

rodamiento piloto

Asegure la base del indicador del cuadrante a la
cara de la carcasa del volante de inercia. Coloque
la aguja calibradora en contacto con el diametro
del rodamiento piloto. Rote el volante de inercia
una revolucion. El maximo descentrado es

de .005" (.13 mm).

Descentrado de la cara de la carcasa

del volante de inercia.

Asegure la base del indicador del cuadrante cerca
del borde externo. Coloque la aguja calibradora
en contacto con la cara de la carcasa del volante
de inercia. Rote el volante de inercia una
revolucién. El maximo descentrado es de .008"
(.20 mm).




10.

Buje del eje transversal
Los bujes del eje transversal desgastados
permiten un deslizamiento axial en la
liberacion y causan un desgaste en las
mangas del buje y un desgaste prematuro
en el cojinete del desembrague.

Pedal del embrague
Se utiliza un pedal de embrague en transmisiones
no sincronizadas para disminuir o frenar el eje de
entrada cuando se acciona el pedal de embrague.
Un pedal de embrague esta disefiado para hacer 8.657”
funcionar un motor inactivo cuando el camién esté

detenido. Este pedal requiere ser reemplazado en

cada instalacién de embrague.

11.

12.

13.

Vuelva a conectar el accesorio de la manguera de lubricacidn (para los sistemas de conexidn hidraulica).

Examine el eje de entrada de la transmisidén y los componentes del sistema de liberacidon del embrague en busca
de desgaste y reemplace si es necesario. (Vea la Fig. 6).

Instale el espaciador de fibra y reemplace el pedal del embrague (no se requiere este espaciador de fibra si se
utiliza un pedal de embrague de tamafio grande).

Aseglrese de lubricar correctamente los siguientes componentes con NLGI grado 2 o 3 grasas complejas a base
de litio: El cojinete de desembrague, las horquillas del yugo, los bujes del eje transversal y los puntos del pivote
de conexién. Nota: Aplicar grasa suficiente al cojinete de desembrague hasta que esté visible extenderd la vida
util de las mangas del buje y del eje de entrada.

Soporte del cojinete de transmision
La longitud de la medida del eje de entrada

F|g_ 6 debe ser de 8.657". Si es mayor que 8.71",

se tiene que reemplazar el casquillo del
soporte del cojinete de transmisién.

La superficie desgastada o dspera producird .,
P g P P Cojinete de transmisidn

i i6 un desgaste prematuro del pedal del . .
Yugo de Il.berauon i 6 P P K Su desgaste permitird que el eje de
Las horquillas desgastadas causaradn que embrague y problemas en el ajuste.

entrada cabecee y creara una vibracién

se desgasten las mangas del buje y que producira una falla prematura.

problemas en el ajuste.

Ejes transversales y conexién

Los ejes transversales y los sistemas de
conexion desgastados pueden producir
problemas en el ajuste, asi como también
una dureza en el accionamiento del pedal
y el desgaste prematuro de la manga del
buje.

Estriado del eje de entrada
Las estrias desgastadas en el eje de entrada
causaran que el embrague se libere
incorrectamente y puede causar que se
rompan los cubos estriados en el disco del
embrague.

Piloto del eje de entrada

Cualquier desgaste en la zona permitira
que el eje de entrada cabecee y creara
una vibracién que producira una falla
prematura.

Eje de entrada

Una rugosidad en la manga donde se monta el buje
producira una falla en esta y puede causar que el buje
se desprenda.

Con extremo cuidado, guie la transmision hacia la carcasa del embrague, los ensambles del disco y el rodamiento
piloto giratorio de la campana protectora del eje. De esta manera, las horquillas del yugo de liberacién estdn
despejadas de las almohadillas en el ensamble del cojinete de liberacidn. (Advertencia: La transmisién no debe
colgarse o forzarse dentro del embrague. Esto puede deformar el disco del embrague y prevenir que el embrague
se libere). NOTA: iNo agregue lubricante a las estrias del eje de entrada!

Al ajustar, comience con los tornillos de la campana de proteccidn y en forma progresiva hacia el par de torsion
recomendado por el fabricante del vehiculo.

Instale la conexién del embrague. Vea "Procedimiento de instalacién del embrague".



PROCEDIMIENTO DE INSTALACION DEL EMBRAGUE

NOTA: Los embragues se ajustan segtn las especificaciones originales del fabricante y deberdn requerir muy poco ajuste
interno para logar la liberacién y el activado correctos. El embrague no debe ajustarse para acomodarse a volantes de
inercia delgados o desgastados, conexiones desgastadas, yugos o bujes de ejes transversales, o para acomodar otras
deficiencias del tren propulsor. El ajuste para estos propdsitos causard que el embrague no funcione correctamente o
que falle prematuramente y serd para los reclamos de garantia una evidencia para la inspeccion de la fabrica. De ese
modo, se anula la garantia del fabricante.

PASON.°1

Luego de la instalacion de la transmisidn, compruebe la holgura entre las inclinaciones del yugo y las almohadillas desgastadas
en la carcasa de rodamientos por 1/8" de holgura. Esto determina el movimiento libre del pedal (solo para conexiones
mecanicas). (Vea la Fig. 7).

Ajuste la conexidn del embrague para aumentar o reducir el yugo hacia la holgura del cojinete. NUNCA UTILICE UN AJUSTE
INTERNO DEL EMBRAGUE CON ESTA FINALIDAD.

PASO N.° 2

Compruebe la distancia correcta de 1/2" a 9/16" entre el pedal de embrague y el cojinete. Si la distancia es muy pequefia,
verifique el DIM B (Fig. 4 o Fig. 7). Si el DIM-B es correcto y se instalé un espaciador de fibra o un pedal de embrague de gran
tamafio, quite el espaciador de fibra o reemplace el pedal de embrague de gran tamafio por uno de tamafno estandar. NOTA:
Si la distancia es mayor que 9/16" y el DIM B es correcto, entonces existe una de las siguientes situaciones. No se instalé el
espaciador de fibra o el pedal de embrague de gran tamafio o necesita volver a medir la longitud del eje de entrada, como
se muestra en la Fig. 6. iNO AJUSTE EL EMBRAGUE!

ES IMPORTANTE LA DIMENSION. NO VARIARLA BAJO NINGUNA CIRCUNSTANCIA SI SE ENCUENTRA POR ARRIBA O POR
DEBAJO DE ESTAS DIMENSIONES.

RECORDATORIO: El cojinete debe moverse a un minimo de 1/2" o no se liberara el embrague. Eliminar la disminucién de
movimiento antes de comprobar el movimiento de 1/2", que se genera por la conexion suelta o desgastada o por los yugos
y los bujes del eje transversal desgastados.

PASO N.° 3

Verifique que el pedal del embrague se contraiga al insertar un calibrador de espesor .010 entre el cojinete y el pedal del
embrague y luego al presionar el pedal hasta el final de la carrera. El calibrador de espesor debe quedar sujeto con fuerza
entre el cojinete y el pedal del embrague. Esto verifica el contacto del cojinete con el pedal del embrague.

Se presionara el pedal del embrague si la carrera total del pedal excede ligeramente el movimiento que se necesita para
mover el yugo de 5/8" a 11/16" (el total combinado de la holgura de 1/8" entre las inclinaciones del yugo y las almohadillas
desgastadas y la distancia del pedal presionado de 1/2" a 9/16"). Para optimizar la presion del pedal, lentamente afloje el
pedal y compruebe la posicion en el momento que se pueda quitar el calibrador de espesor .010". Si la distancia del pedal
desde el piso es menor que %” o mayor que 1" cuando se pueda quitar el calibrador, vuelva a ajustar la conexion.

EN EL CASO QUE EL PEDAL NO SE ESTE PRESIONANDO, NO CAMBIE LA DISTANCIA DE 1/2" - 9/16" POR EL PEDAL DEL
EMBRAGUE O LA HOLGURA DE 1/8" POR LA CARCASA DE RODAMIENTOS. CONSULTE CON EL MANUAL DE SERVICIO DEL
FABRICANTE DEL VEHICULO.

Otras consideraciones para comprobar sin apretar el pedal son:

A. Los componentes de conexidn, el yugo y los bujes del eje transversal desgastados. Si es necesario, reemplace
estos componentes.

B. Elensamble de conexidn incorrecto. Verifique que la conexién esté ensamblada en los lugares correctos.

La carrera del pedal. Para ajustar, levante el tope del pedal superior o baje el tope del pedal inferior.

D. Siel embrague se acciona hidraulicamente, asegurese de que los cilindros receptores y principales estén
funcionando correctamente.

0

NOTA: LA PRESION MAXIMA DEL PEDAL (EN CABINA O EN CAMION) NO DEBE EXCEDER 1" DEL FINAL DE LA CARRERA DEL
PEDAL. SI LO HACE, SE PUEDE AJUSTAR AL:

A.  Cambiar los topes de los pedales en cabinas para reducir la carrera total del pedal.
B.  Aumentar el ajuste de 1/8" del yugo hacia el cojinete para reducir la presién. (Esto aumentara el recorrido
de pedaleo libre.)



PASO N.° 4

El técnico debe verificar cuidadosamente que se encuentre una distancia de 1/2" a 5/8" entre la cubierta del embrague y el cojinete de
desembrague, 1/8" de recorrido libre entre el yugo y las almohadillas desgastadas (solo para conexiones mecanicas) y una distancia de
1/2" a 9/16" entre el cojinete de desembrague y el pedal del embrague.

Esquema 1

Diametro
externo 2”

. Si se tiene que instalar el
Fig. 7 espaciador de fibra luego
de la transmision, realice
una muesca con forma
de "V" como se muestra
en el Esquema 1.

Diametro
interno 1.5”

1/2”-9/16”

A

1/8” (solo conexién mecanica)

A



RESOLUCION DE PROBLEMAS Y DIAGNOSTICOS

Posicidn del cojinete demasiado largo (mayor que 5/8")

e Disco al revés.

e La dimensidn del volante de inercia de 5/16" es demasiado pequefio y el disco esta
presionando los tornillos del cigliefial (vea la Fig. 3).

¢ La dimensidn del volante de inercia es mas pequeino que 10" (vea la Fig. 1).

Posicion del cojinete demasiado corto (menor que 1/2")

¢ Volante de inercia no revestido.

o El piloto del embrague del volante de inercia es mayor que 3/16" (vea la Fig. 2).

¢ Olvidd instalar un disco.

¢ NOTA: Si ocurre cualquiera de las situaciones anteriores, verifique que el brazo de ajuste esté
insertado en el tapon (vea la Fig. 9).

La distancia del pedal del embrague en el cojinete es mayor que 9/16".

e Verifique que la posicion del cojinete esté establecida entre 1/2” y 5/8” (vea la Fig. 7).

¢ La medida del eje de entrada es demasiado larga o existe un desgaste excesivo en el
retenedor del cojinete de la entrada de la transmisién (vea la Fig. 6).

¢ No utilice un embrague de gran tamaio o un espaciador de fibra.

¢ El mecanismo de ajuste automatico no esta funcionando—Vea el Procedimiento de reajuste

La distancia del pedal del embrague en el cojinete es menor que 1/2"

e Verifique que la posicion del cojinete esté establecida entre 1/2” y 5/8” (vea la Fig. 7).

e Se utilizé un pedal de embrague de gran tamafio en vez de un pedal de embrague de tamafio
estandar.

e Tener un espaciador de fibra y no necesitarlo.

El recorrido libre esta fuera de las especificaciones (solo sistema de conexiones mecanicas)

e Verifique que la posicion del cojinete esté establecida entre 1/2” y 5/8” (vea la Fig. 7).
e Verifique que la distancia del pedal hacia el cojinete esté establecida entre 1/2” y 9/16”

(vea la Fig. 7).



PROCEDIMIENTO DE REAJUSTE

Si por alguna razén se necesita reajustar el embrague o
ajustarlo manualmente, siga las siguientes instrucciones.
1. Retire el mecanismo de ajuste automatico (Fig. 8).

2. Retire el embrague.

3. Instale el mecanismo de ajuste manual (Fig. 8).

4. Ajuste manualmente el embrague para cumplir las
especificaciones en el procedimiento de instalacién.
(Vea la Fig. 7).

5. Reinstale el mecanismo de ajuste automatico. Asegure
que el brazo de ajuste esté colocado correctamente en
el tapdn de retenciéon como se muestra en la Fig. 9.

6. Cuando instale el mecanismo de ajuste automatico,
puede ser necesario ajustar manualmente el
mecanismo de ajuste automatico, asi el engranaje
helicoidal esté colocado correctamente en el anillo
dentado de ajuste.

Correcto
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ARRETEZ!

LISEZ ATTENTIVEMENT CE QUI SUIT AVANT DE PROCEDER
A L'INSTALLATION DE L’'EMBRAYAGE

Cet embrayage doit étre installé par un installateur qualifié. Une installation inadéquate ou le fait de ne
pas remplacer ou rectifier le volant moteur ou de ne pas remplacer le roulement-guide, le frein
d’embrayage ou d’autres composants usés des organes de transmission pourrait entrainer un probleme
de débrayage ou une défaillance prématurée de I'embrayage, en plus d’annuler la garantie du fabricant.

Vérification des dimensions du volant moteur
L’alésage du volant moteur (distance A) doit étre de 10 po ou plus
(voir la figure 1).

10 po

DIM. A

SECTION A-A

Figure 3

Il doit y avoir un jeu d’au moins 5/16 po entre la surface de friction du volant moteur et le dessus de la téte de
boulon qui retient le volant moteur au vilebrequin. Si le jeu est inférieur a 5/16 po, il faut REMPLACER le volant
moteur! (voir la figure 3).

La profondeur du roulement-guide d’embrayage du volant moteur ne doit pas dépasser 3/16 po. Si la profondeur
dépasse 3/16 po, il ne sera pas possible de serrer complétement I’embrayage sur le volant moteur (voir la figure 2).



INSTALLATION

1. Rectifiez ou remplacez le volant moteur. La surface doit étre lisse, sous peine de causer une défaillance
prématurée de I'embrayage. SOUVENEZ-VOUS : Le fait de rectifier un volant moteur au-dela de la dimension
recommandée de 0,060 po éloigne le plateau de pression de la boite de vitesses. En pareil cas, placez une
rondelle en fibre (incluse) sur I'arbre d’entrée, entre le frein d’embrayage et la boite de vitesses. La fourchette
de débrayage dans le carter d’embrayage pourrait ne pas s’aligner correctement avec le carter de la butée
de débrayage du plateau de pression. Le réglage de la tringle est parfois nécessaire durant la procédure
d’installation de I'embrayage. S’il faut rectifier la surface et que le volant moteur est toujours en place sur le
vilebrequin, vérifiez que les dimensions du volant moteur sont appropriées en vous reportant aux figures 2 et 3.

2. Inspectez la surface de contact du carter du volant moteur et du carter d’embrayage et vérifiez leur alignement
au moyen d’un comparateur a cadran. Vérifiez le faux rond du volant moteur. ATTENTION : Un désalignement
supérieur a la limite recommandée entrainera un mauvais débrayage, I'usure rapide de I'arbre d’entrée de la
boite de vitesses et la destruction du disque d’embrayage. Un faux rond excessif du volant moteur transmet
des vibrations importantes aux organes de transmission (voir la figure 5).

3. Il faut utiliser un roulement-guide neuf avec joints en VITON®. Vérifiez que I'arbre d’entrée de la boite de
vitesses tourne librement avant de loger le roulement-guide dans le volant moteur.

4. Vérifiez que le disque s’engage bien dans I'alésage du volant moteur (voir la figure 1). Faites coulisser le
disque sur toute la longueur de I'arbre d’entrée pour y déceler des signes de torsion et d’usure. Insérez la tige
d’alignement a travers le carter de roulement. Installez le disque arriere (orienté correctement), le plateau
intermédiaire et le disque avant (orienté correctement) sur la tige d’alignement. Rapprochez le carter
d’embrayage du volant moteur pour s’assurer que le carter s’engage dans le roulement-guide du volant
moteur.

5. Posez les boulons (7/16 x 14UNC x 2 1/4 po) qui retiennent le carter d’embrayage au volant moteur. Serrez les
boulons au couple et dans I'ordre spécifiés par le constructeur du véhicule ou de la boite de vitesses (entre 40
et 50 Ib-pi). Les boulons doivent étre au moins de classe 5.

6. Retirez le dispositif de blocage de fourchette situé sous la butée de débrayage. Retirez la tige d’alignement.
Vérifiez que la distance entre la butée de débrayage et le carter d’embrayage est de 1/2 po a 5/8 po (voir la
figure 4). REMARQUE : Le dispositif de blocage de fourchette doit étre réinstallé chaque fois que ’embrayage
est séparé du volant moteur. Sinon, le bras de réglage se séparera du goujon de retenue. Voir la figure 9 dans
la section Procédure de recalage.

Figure 4

Dimension B
1/2 po a5/8 po



VERIFICATION DES DIMENSIONS DU CARTER DE VOLANT
MOTEUR ET DU VOLANT MOTEUR

REMARQUE : Le roulement-guide doit étre remplacé. Assurez-vous que toutes les surfaces de prise de mesure sont propres et séches.

VERIFIEZ LES DIMENSIONS SUIVANTES A L’AIDE D’UN COMPARATEUR A CADRAN :

Figure 5

Faux rond de la surface du volant

moteur

Fixez la base du comparateur a cadran sur la
surface du carter de volant-moteur. Placez le
toucheau du comparateur sur la surface du volant
moteur, pres du rebord extérieur. Tournez le
volant moteur d’un tour. Le faux rond maximal
est de 0,20 mm (0,008 po).

Faux rond du diameétre intérieur du

carter de volant moteur

Fixez la base du comparateur a cadran sur le
vilebrequin. Placez le toucheau du comparateur
contre le diamétre intérieur du carter de volant
moteur.

Tournez le volant moteur d’un tour. Le faux rond
maximal est de 0,20 mm (0,008 po).

Faux rond de 'alésage du

roulement-guide

Fixez la base du comparateur a cadran sur la
surface du carter de volant-moteur. Placez le
toucheau du comparateur sur |'alésage du
roulement-guide. Tournez le volant moteur d’un
tour. Le faux rond maximal est de 0,13 mm
(0,005 po).

Faux rond de la surface du carter de

volant moteur

Fixez la base du comparateur a cadran sur le
volant moteur, prés du rebord extérieur. Placez le
toucheau du comparateur sur la surface du carter
de volant moteur. Tournez le volant moteur d’un
tour. Le faux rond maximal est de 0,20 mm
(0,008 po).




7.  Rebranchez la liaison du flexible de lubrification (systémes a tringlerie hydraulique seulement).

Vérification de I'état d’usure de I'arbre d’entrée de la boite de vitesses et des composants de débrayage et
remplacement au besoin (voir la figure 6).

9. Installez la rondelle en fibre et remplacez le frein d’embrayage (la rondelle en fibre n’est pas requise s’il s’agit d’'un
frein d’embrayage surdimensionné).

10. Assurez-vous de lubrifier suffisamment les composants suivants avec de la graisse au lithium NLGI 2 ou 3 : butée
de débrayage, doigts de fourchette, bagues de croisillon et pivots de tringlerie. Remarque : Appliquez de la graisse
jusqu’a ce qu’elle s’échappe de la butée de débrayage pour prolonger la durée de vie des bagues de manchon et
de I'arbre d’entrée.

Plaque de retenue de roulement de boite
de vitesses

Figure 6 La longueur mesurée de I'arbre d’entrée
devrait étre 8,657 po. Si la longueur
dépasse 8,71 po, la plaque de retenue de
roulement de boite de vitesses doit étre

Roulement de la boite de vitesses

5 remplacée. P :
Fourch.ette de débrayage 5 Une’:urface usée ou irréguliére entraine Un roulement usé crée un jeu de I'arbre
I?es doigts ,de fourchette usés causent Fusure prématurée du frein d’embrayage d’entrée en rotation, ce qui entraine des
Vusure rapld’e du ma.n?h.on de bague et . ers vibrations et une défaillance
rendent le réglage difficile. et rend le réglage difficile.

prématurée.

Bagues de croisillon
Des bagues de croisillon usées imposent une

contrainte latérale a la butée de débrayage
et causent I'usure prématurée de la bague
de manchon et de la butée de débrayage.

Croisillons et tringlerie
Une usure excessive des croisillons et de

la tringlerie peut rendre le réglage de
I’embrayage difficile, augmenter I'effort a
la pédale et causer I'usure prématurée de
la bague de manchon.

Frein d’embrayage
Les freins d’embrayage sont utilisés sur les boites

de vitesses non synchronisées pour ralentir ou
immobiliser I'arbre d’entrée lorsque la pédale de
débrayage est enfoncée. Le frein d’embrayage agit
au ralenti lorsque le véhicule est immobilisé. Le
frein d’embrayage doit étre remplacé au méme
moment que I'embrayage.

Cannelures de I'arbre d’entrée

Un arbre d’entrée aux cannelures usées
entraine un probléme de débrayage et peut
endommager les moyeux cannelés des
disques d’embrayage.

Guide d’arbre d’entrée

Toute usure a cet endroit crée un jeu de
I'arbre d’entrée en rotation, ce qui entraine
des vibrations et une défaillance
prématurée.

Arbre d’entrée

Une surface de coulissement irréguliére de la bague
causera la défaillance de la bague de manchon et
possiblement sa séparation du manchon.

11. Guidez tres précisément la boite de vitesses a travers le carter d’embrayage, les disques d’embrayage et le
roulement-guide tout en tournant I'arbre dans le carter d’embrayage de sorte que les doigts de la fourchette de
débrayage ne touchent pas aux surfaces d’usure de la butée de débrayage. (Avertissement : La boite de vitesses ne
doit pas étre poussée ou engagée de force dans 'embrayage. Cela pourrait déformer les disques d’embrayage et
empécher le débrayage. REMARQUE : Ne lubrifiez pas les cannelures de I’arbre d’entrée!

12. Serrez progressivement les boulons du carter d’embrayage jusqu’au couple recommandé par le constructeur du
véhicule.

13. Installez la tringlerie d’embrayage. Consultez la section Procédure d’installation de I'embrayage.



PROCEDURE D’INSTALLATION DE L'EMBRAYAGE

REMARQUE : Les embrayages sont réglés aux spécifications de I'’équipement d’origine et ne devraient normalement
nécessiter qu’un léger réglage interne pour obtenir les caractéristiques de débrayage et d’embrayage recherchées.
L’embrayage ne doit pas étre réglé pour corriger le fonctionnement d’un volant moteur trop mince ou usé, un jeu excessif
dans la tringlerie, la fourchette ou les bagues de croisillon ou des anomalies de fonctionnement des organes de transmission.
Un tel réglage compensatoire entrainera inévitablement un mauvais fonctionnement ou une défaillance prématurée de
I'embrayage et 'inspection au titre de la garantie en révélera la cause, annulant ainsi la garantie du fabricant.

ETAPE 1

Installez la boite de vitesses, puis vérifiez que I’écart entre les doigts de la fourchette et les surfaces d’usure de la butée de débrayage
est de 1/8 po. C’est cet écart qui détermine le jeu de garde de la pédale (tringlerie mécanique seulement) (voir la figure 7).

Réglez la tringlerie d’embrayage de maniére a augmenter ou a diminuer le jeu entre la fourchette et la butée de débrayage.
N’UTILISEZ JAMAIS LE REGLAGE INTERNE DE L'EMBRAYAGE POUR CE FAIRE.

ETAPE 2

Vérifiez que le jeu entre le frein d’embrayage et la butée est de 1/2 po a 9/16 po. Si le jeu est insuffisant, vérifiez la dimension B
(figures 4 et 7). Si la dimension B est conforme et qu’une rondelle en fibre ou un frein d’embrayage surdimensionné a été installé,
retirez la rondelle en fibre ou remplacez le frein d’embrayage surdimensionné par un autre dont I'épaisseur est normale.
REMARQUE : Si le jeu est supérieur a 9/16 po et que la dimension B est conforme, vérifiez les points suivants : la rondelle en fibre
ou le frein d’embrayage surdimensionné n’a pas été installé, ou il faut mesurer de nouveau la longueur de I'arbre d’entrée comme
montré a la figure 6. NE REGLEZ PAS L'EMBRAYAGE!

CETTE DISTANCE EST CRITIQUE. NE CHANGEZ JAMAIS CETTE DISTANCE, EN PLUS OU EN MOINS.

RAPPEL : La butée de débrayage doit se déplacer d’au moins 1/2 po pour que le débrayage puisse se faire. Eliminez tout mouvement
perdu avant de vérifier ce déplacement de la butée de 1/2 po. Le mouvement perdu provient généralement d’une tringlerie desserrée
ou usée ou d’une fourchette ou de bagues de croisillon usées.

ETAPE 3

Vérifiez I'effort de compression du frein d’embrayage en glissant une cale d’épaisseur de 0,010 po entre la butée de débrayage et le
frein d’embrayage tout en enfongant completement la pédale de débrayage. La cale d’épaisseur doit étre fermement pincée entre la
butée de débrayage et le frein d’embrayage. Cela permet de confirmer le contact entre la butée de débrayage et le frein d’embrayage.

Le frein d’embrayage sera comprimé si la course totale de la pédale est légérement supérieure au mouvement requis pour déplacer la
fourchette de 5/8 po a 11/16 po, ce qui représente la somme du jeu de 1/8 po entre les doigts de la fourchette et les surfaces d’usure
de la butée de débrayage et du jeu de pincement du frein d’embrayage de 1/2 po a 9/16 po. Pour optimiser le réglage de compression
du frein d’embrayage, relachez doucement la pédale et vérifiez sa position au moment précis ou il est possible de retirer la jauge
d’épaisseur de 0,010 po. Si la pédale se trouve a moins de 1/2 po ou a plus de 1 po du plancher lorsque la jauge peut étre retirée,
réajustez la tringlerie d’embrayage.

SI LE FREIN D’EMBRAYAGE N’EST PAS COMPRIME, NE MODIFIEZ PAS LE JEU DE 1/2 PO A 9/16 PO POUR LE FREIN D’EMBRAYAGE NI
LE JEU DE 1/8 PO POUR LA BUTEE DE DEBRAYAGE (CONSULTEZ LE MANUEL DE REPARATION DU CONSTRUCTEUR DU VEHICULE).

Si le frein d’embrayage n’est pas comprimé, vérifiez également les points suivants :

Composants de tringlerie, fourchette ou bagues de croisillon usés. Remplacez ces composants au besoin.
Erreur d’assemblage de la tringlerie. Vérifiez que la tringlerie est assemblée dans les trous appropriés.
Course de la pédale. Relevez ou abaissez les butées de la pédale pour la régler.

S’il s’agit d’'un embrayage a assistance hydraulique, vérifiez le bon fonctionnement du cylindre récepteur et
du maitre-cylindre.

ocow®p»

REMARQUE : LA COMPRESSION MAXIMALE DU FREIN D’EMBRAYAGE DOIT ETRE OBTENUE SANS DEPASSER 1 PO EN BOUT DE COURSE
DE LA PEDALE (DANS LA CABINE). SI LA DISTANCE EST PLUS GRANDE, ELLE PEUT ETRE CORRIGEE COMME SUIT :

A. Changez la position des butées dans la cabine pour réduire la course totale de la pédale.
B. Augmentez le réglage de 1/8 po entre la fourchette et la butée de débrayage pour réduire le degré de compression,
ce qui aura pour effet d’augmenter le jeu de garde de la pédale.



ETAPE 4

L'installateur doit vérifier attentivement qu’il existe un jeu de 1/2 po a 5/8 po entre le carter d’embrayage et la butée de débrayage, un jeu libre
de 1/8 po entre les doigts de la fourchette et les surfaces d’usure de la butée (tringlerie mécanique seulement) et un jeu de 1/2 po a 9/16 po
entre la butée de débrayage et le frein d’embrayage.

Schéma 1

Dia. ext.
2 po

. Si la rondelle en fibre est
Figure 7 installée avec la boite
de vitesse en place,
découpez la rondelle
comme montré dans
le schéma 1.

Dimengon B 1/2 po 3 9/16 po

A

1/8 po (tringlerie mécanique seulement)

A



DEPANNAGE ET DIAGNOSTIC

Jeu excessif de la butée de débrayage (supérieur a 5/8 po)

¢ Disque installé dans le mauvais sens

e Distance du volant moteur inférieure a 5/16 po, ce qui fait que le disque touche les tétes
des boulons du vilebrequin (voir la figure 3)

e L'alésage du volant moteur est inférieur a 10 po (voir la figure 1)

Jeu insuffisant de la butée de débrayage (inférieur a 1/2 po)

e Le volant moteur n’a pas été rectifié

e La profondeur du roulement-guide d’embrayage du volant moteur dépasse 3/16 po
(voir la figure 2)

e Un des disques est manquant

¢ REMARQUE : Dans les cas décrits ci-dessus, vérifiez que le bras de réglage ne s’est pas séparé
du goujon (voir la figure 9)

Le jeu entre le frein d’embrayage et la butée est supérieur a3 9/16 po

e Vérifiez que la position de la butée se situe entre 1/2 po et 5/8 po (voir la figure 7)

¢ La longueur mesurée de I'arbre d’entrée est trop grande ou la plaque de retenue de
roulement de la boite de vitesses est trop usée (voir la figure 6)

¢ La rondelle en fibre ou le frein d’embrayage surdimensionné n’a pas été installé

e Mécanisme d’autoréglage inopérant.Consultez la section Procédure de recalage

Le jeu entre le frein d’embrayage et la butée est inférieur a 1/2 po

e Vérifiez que la position de la butée se situe entre 1/2 po et 5/8 po (voir la figure 7)

¢ Un frein d’embrayage surdimensionné a été utilisé au lieu d’un frein d’embrayage d’épaisseur
normale

¢ Une rondelle en fibre non requise est installée

Le jeu libre n’est pas conforme (tringlerie mécanique seulement)

e Vérifiez que la position de la butée se situe entre 1/2 po et 5/8 po (voir la figure 7)
e Vérifiez que le jeu entre la butée et le frein d’embrayage se situe entre 1/2 po et 9/16 po

(voir la figure 7)



PROCEDURE DE RECALAGE

Si, pour une raison quelconque, I'embrayage doit étre
recalé ou réglé manuellement, procédez comme suit : Figure 8
1. Retirez le mécanisme d’autoréglage (figure 8)

2. Désengagez I'embrayage

3. Installez le mécanisme de réglage manuel (figure 8)

4. Réglez ’'embrayage manuellement selon les
spécifications de cette procédure d’installation
(voir la figure 7).

5. Réinstallez le mécanisme d’autoréglage. Vérifiez que le
bras de réglage est bien logé dans le goujon de retenue
comme montré dans la figure 9.

6. Pour réinstaller le mécanisme d’autoréglage, il est
parfois nécessaire d’actionner manuellement le cliquet
du mécanisme d’autoréglage de sorte a réengager
correctement la vis sans fin dans la dent de réglage.

(®)

5 @‘
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Figure 9

Non conforme
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